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Perhaps only by death; - 22 %P DIBNT 7O RIS RYT KPIT N1 RMSDT
for he is not pleased that she should be bound to the Yovohm

OVERVIEW

The X nx argues that when the 71wn states that if he said w77 2° 79 WOy and he
died beforehand it is a v3, it is limited to the case where he died, for only there does
he want the v to be effective so she will not be 212°% 7P, but if he did not return
on account of sickness, it 1s not a ©) (since P02 01 ), for he does not want the
vl to be effective. NMdDIN reconciles this X3 (that he wants the 03 to be effective if
he dies) with a contradictory Xna.

mooIn asks:
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And if you will say; in nRw s» »9p, where the X713 rules that if a lion ate him

we do not maintain, etc. and -
- 2095 595 91901 7Y NN XY NN D) 991 NY INDN) V) NIOY 115 PR W99

The explanation of 1% PX is that we do not maintain that it is a v (but rather we
maintain that it is not a v3), so the question is why is it not a v, since he is not
pleased that she should be 212%% 71227 as we say here?!’

N1B0IN answers:
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And one can say that a person does not anticipate an accident which is not
common at all, so that he should want that there should be a wx.

SUMMARY

"' The case there is where someone wrote a va and said ‘@ran Tuea "7 if 71 7mn onn’, and a lion ate him before he
recovered from that sickness.

% The issue (in both m17n3) is whether she is 212°% AP (for the husband is dead). So just as we say here that if he
said 21 °nXa X o, and he died, the rule is v 1"177 (even though we maintain [at this point] that 1"v>32 o1k w),
because the husband wants the v3 to be effective ¥y1917 if he dies, so she will not be 212°% 7ppr; similarly there when
he said 177 °2n i oR, he also wants it to be effective retroactively ([even] if »X 122X) so she will not be 212°2 PP,
? See “Thinking it over’.

* Death is an 73 01X, nevertheless we cannot say that it is 993 "9 X9, therefore when a person says X2 oX 0% "7
w7 2" 7Y °nX3, he anticipates the (slight) possibility that he may die, and implicitly desires that if he dies that the ©3
should be effective retroactively (even if we maintain v°32 01 @), in order that his wife should not be 212°% fpIpT.
However by an 93 m>ow K77 01 (such as »X 122X) he does not anticipate that o1 at all; therefore we cannot say that
he had in mind that if *3X 179X the v3 should be effective retroactively. Therefore, since he said 71 >>7» *n oX, he
only meant that the v should be effective if he dies from this sickness but not if X 195x.
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There is a difference between an ano onX (like 7n°») where a person anticipates it
and wants the 03 to be effective (22°% pprn X7W), and an 01X which is 995 7w X
(such as *7X 190X) which he does not anticipate and we cannot assume that he
wanted the v3 to be ¥191? %11 in such a case.

THINKING IT OVER

Seemingly the two cases (of nm1 121 °nNX2 X2 OX, and IR 12281 121 9911 "N OX) are
different and cannot be compared. In the case where the *Xin was 2° 7V >nRX2 X7 OX
w7In and he died during the w77 2°, he is fulfilling the >Xin, for he did not return
before w7 2°. That fact that he did not return because of an DX cannot be
considered that his °Xin was not fulfilled (even if we maintain Y22 0IIR ©»),
especially since the whole purpose of his *Xin was to prevent her from 212°% 7p°r.
However in the case of 77 °211 "n aR and »X 172K the *RXin was not fulfilled (for he
did not die 77 "7, but rather because IR 179R), the X120 of “»p 91dNT 799 RMA°1 XL
02 cannot reconstruct that the *Xin was fulfilled when it was not fulfilled. In short
when the °Xin is fulfilled like the case of 21 °>nX2 X% oX and the only problem is that
it was an 01, the X720 of 21 7°% X1 KD, is sufficient to remove the obstacle of w°
TU22 01X, but the X120 of % Xm°1 X7 does not have the power for us to consider
that the *xin was fulfilled!’

> See (1"7¥) in X215 MR N"A 2"A.



